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e Please check that this question paper contains 4 printed pages.

e Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

e Please check that this question paper contains 19 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i) Attempt all sections.
(ii) lllustrate your answers wherever possible.
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SECTION - A
Tt I 1 E HIfT |
Attempt all questions.
HI g AT SIRES TTed i | MigdeH fagen § v fehu Sd & 2 1
Computer controlled overhead transporters are used in which production system ?
T STaTetieh Al # foha &l st freTeRt Teh et ST & 7 1

How many threads combine to make a stitch in safety overlock machine ?

39 A 1 A Sa13C fSEehT T qRa™ & gy W fers awon fe@m faqr g i
ToreTrs o foru fopa ST 2 | 1

Name the machine which is used for sewing hems without showing stitch impression on
the right side of garment.

for-gl <1 ShicTd o1 918 w@TST | 1

List any two collars.

Tor-gl €1 BeToh—aSH ITcA SHUSI k1 ATH FdTST | 1
Name any two light-weight fabrics.
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Give very short answers.

T AT o greiferseret e i yg@ faswar = & 2 2

What is the characteristic feature of Individual system of garment assembly ?

6 - 317 - 31 eTTs wefie o1 e SR g 7 2
YT
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What is the function of feed-off-arm sewing machine ?
OR

How is Single-Needle Lock-Stitch machine different from Double-Needle Lock-Stitch
machine ?

6N Sl ST Shl I T ohgl i o =T <hl dehtred] gRT EIMST | 2

Give the workflow for assembling a man’s shirt.
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What is bias binding ?

&Y hi TcI T HUST GG o [T 3TTERIh HAT oh! FT TA1ST | 2
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List the various measurements required for buying fabric for men’s trouser.
OR

What width of fabric is commonly used for stitching a sari blouse ? Calculate the
amount of fabric required for stitching a sari blouse.
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Write short answers in 50-75 words each.

T THel T TG H SeRIe 1 JedTeh Hid THY foh Tomgal o &I 1@ =miey, ? 3

What points should be kept in mind while evaluating buttonholes in a stitched garment ?
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What are the various factors which influence the amount of fabric requirement for a
specific garment ?

OR
Define and classify various pockets. Give one example of each class.

< -feeg wefia i SRy a9y | 3

Explain the working of chain-stitch machine.

-2 T o 1Y H o ALieh hl THSST | 3

Explain the working of Bar-tack machine.

worfereel Bghara T e & Ay § 7 3
YT
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What are the advantages of Flexible Manufacturing System ?

OR
What causes bottlenecks in Progressive Bundle System ?
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100-150 Y551 8 ek o ferega 3w Eifre |

Write descriptive answers in 100-150 words each :

U hl Hearell T HrRd fafiy= Scqres yonfeai = 8 7 fear i et us s s g sasn | 5

What are the various production systems employed in clothing industry ? Explain any
one in detail.

AT 37T ITSTATsHT § 37T FdTsy | 5

Give the difference between lining and underlining.

frfafaa # @ fodi < ! TwesT - 5
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Explain any two of the following :

(a) Pin-tucking machine

(b) Types of sewing machine beds

(c) Flat-lock machine

SATeh! UTEeh 3TTTH Teh The, IR Teh scATSHol ST FTad] & | 3T 8 T IR o fofu
HUL Sl FTAIHRAT hl TUHET AT Hd HTT ? 5

YAl

SHefleR T o fafir=t w61 g e | g5eh foru straeres wug i umn &1 STHH A
TTE ? 36" 351 % HUS T 3 T I -3 TR |
Your customer wants to make a skirt and a blouse for her. How would you calculate the
amount of fabric required for each garment separately ?

OR

List various parts of a Kalidar Kurta. How will you calculate the fabric required for the
same ? Show its pattern layout on 36" width fabric.
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